In some media, waves of different frequencies travel at different speeds.  Such a medium is called a dispersive medium because waves that are not sinusoidal will change shape or disperse over time.  


For example, a superposition of two such waves of different frequencies is described by the equation:
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Substitute into the equation above the following expressions for k1, k2, 1 and 2     
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And show that:
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� EMBED Equation.3  ���








_1285509005.unknown

_1285509095.unknown

_1285509103.unknown

_1285509323.unknown

_1285509023.unknown

_1285508624.unknown

